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Directed numbers

Unit Test PART A
Instructions This part consists of 12 multiple-choice questions
Each question is worth 1 mark
Fill in only ONE CIRCLE for each question
Calculators are NOT allowed
Time allowed: 15 minutes Total marks = 12
Marks

1 32 + +18 equals

@A -12 +50 © -14
2 —6+ -3+ -1 equals

A -8 ~-10 © +10
3 +5——6equals

A) +11 11 © +
4 (-2) equals

@A 8 -6 © +6
5 -9--9equals

A) 18 0 © 1
6 (—6X4)+ 8equals

A -16 +16 © 32
7 —5-—(6—-1)equals

@A) -10 12 © -12
8 -8+ -2Xx-3equals

A 14 —14 © 2
9 Ifa=3andb =-2then (a + b)’ equals

A 25 1 © 9
10 If x = 2 and y = —5 then xy + 6 equals

A -4 16 © 4
11 -6 X -5+ -2 equals

A) 15 30 © -15
12 +36 + +4 + —3 equals

@A 3 -3 © 12

® & & & @ 68 ©® G 6 ©® 6 6

81

18

-16

-30

-12

Total marks achieved for PART A

12
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Directed numbers
Unit Test

PART B

Instructions This part consists of 15 questions

Each question is worth 1 mark
Write answers in the answers-only column

Time allowed: 20 minutes

Total marks =15

10

11

12

13

14

15

Questions

—5+7-8=
(-8 +3-1=

—7+-9=

-3 X-=5=
—2X-3X-4=
—-16 +8 =
-35+-7=

60 + —6 =
7+ 8+ (-2) =
(A-17)x (-1 +3) =
8+ (-3)+3-8=
-4+ (—-4)—4=

22X [27+(3-12)] =

Answers only

Marks

—

-.

Total marks achieved for PART B

[

5
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Answers — Directed numbers

PAGE1 1 b L o1 & N a L ¢ 1 L ¢ 1L __é 1 @ L ¢
270 1 2 3 4 5 0 1 2 3 456 7 ¢ 0122345686 7 8
d ¢ L L rS L L r Y L L é e 1 |... .‘ f
01 2 3 4 5 6 7 8 9 0 1 2 3 4 5 6 0 1 2 3 4 5 6 7 8
———————o—
8 0 1 2 3 4 5 & 212 135b246¢c1,2345d234567e€2456810f1,3579

g0,2,4,6,8,103a12b14c19d2e1

Pace 2 1 a going down b going west ¢ going south d withdrawing money e losing $10 f three floors down

g 5° above zero h decrease of $30 i 15 steps to the left j 80 metres below sealevel 2 a +30 b +10 ¢ —12 d —80 e -1
f-153a+4+5b -4c-2d+5e +34a +10++5=+15b +14+-9=+45¢c -12++20=4+8 d +6 + +9 = +15
Pace 3 la+3b+4c+5d+4 e +7f-62a+8b 3 c+3d+2e +6f+83 a—-4b +10c +7 d +6
e +3 f+6g +7 h+3i—2j—4 k-31-54a-7,-2,-1,+1,+43 b —-9,-3,-2,2,3,8 ¢ -7,-3,-1,2,3,5

d -8 -4-1,2,58 95a>b>c>d<e<f>g<h<i<j>k<lc<

Page4 1a+15b+5c+4d+6e+6f+8 g +11h +l0i+l112a-3b-4c-4d-3e-5f-5g-6h-9
i—73a—4b—6c—6d—5e—5f—5g—7h—8i—124a—3b—5c—6d—9e—13f—16g—6h—lOi—16
5a+12b+l6c+7d-7e-12f-15g0h-5i-56a-3b+7c-5d+2e-5f-6¢g-9h+111i+3
Pance5 1a3b3c7d+2e+6f+2g+l h+7i+32a+7b +11 c13d +9 e +11 f +15 g +12 h +6
i+153a—ZOb—lOC—l4d—l8e—10f—l4g—15h—ZOi—ll4a—1b—2c—3d—4e—lf—5g—4h—2
i—55a0b+10C+18d—25eOf—3gOh—19i—246a—4b—3C—12d14e+4f—10g—18h—17i—9
Pace 6 la+6b +6 c +21 d +36 e +42 f +24 g +9 h +15i +22 2 a 6 b —-15 c -36 d —32 e —28 f —35
g —18 h-21i-723a-12b -8c¢c-55d-30e —24f -14 g 33 h —24i-244 a +12 b +48 ¢ +72 d +10 e +15
f+5g+42h+32i+485a+27b—40c—6d—21e+56 f—42g+60h+36i+906a+7:+63,—70,—35;
—6: —54, +60, +30 b +6: -48, —42, —18; —5: +40, +35, +15 ¢ —7: —42, +84, +63; +8: +48, —96, —72

Pange7 l1la+5b+4c+4d+9e+7f+8g+3 h+4i+72a—6b-3c-3d-5e-9f-4g-2h-I12

i—73a—9b—4c—3d—36—1f—lg—3h—12i—94a—2b—2C2d—%e4f4g8hli—25a4b—ll
c3d-36e-7f27g8h7i-36a+5b-20c-2d-7e-10f-3¢g +4h +31i +20

Pace 8 la-15b +12c +34d -12e 20f-44g-4h-4i-12a-6b2c-17d +5e-19f +14 g +16
h+6i+ll3a+6b—7c17d96e—8f8g—24h—9i64a+24b+25C4d21€18f—19g—3h20i2
5a-9b -36c-3d-21e —-49f-2 g —24 h -241i-96 a-2:+2,-8,-10, +8, —5; +7: +11, +1, -1, +17 +4;

-5: -1, -11, =13, +5, -8 b +3: -9, +12, —6, +18, —15; —7: +21, —28, +14, —42, +35; —4: +12, —16, +8, =24, +20

Pace 9 1 a(0,3) (1, 4), (2. 5), (3, 6),

b (0, -2), (1, 0), (2, 2), (3, 4) A e ~ N .
c(0,0),(1,2),(2 4), (3 6) 1, Y . J1 . y
d(0,0),(1,1), (2 4), (3,9 a | b ] . c 1. d
] > x —o—o—o—o—_p_._._o_> x > x > x
0 0 1 0 0

2a(1,1),(2,2),(3,3),(44),(55b(0,1),(1,2),(23), (34, (4 53a716,22,2531b 6,810, 12, 14
Pace 10 1 a (-2, -2), (-1, -1),(0,0), (1, 1), (2, 2) b (-2, 2), (-1, 1), (0, 0), (1, -1), (2, -2) ¢ (-2, ~1), (-1, 0), (0, 1), (1, 2),
(2,3)d (-2, -3), (-1, -2), (0, -1), (1, 0), (2, 1) e (-4, -2), (-2, 1), (0, 0), (2, 1), (4, 2) f (=2, —4), (-1, -2), (0, 0), (1, 2), (2, 4)

y1 1 y y A y
a 1. b, | ¢ 1.° d] e 1 . £ 1.

4
4

Pace 11 1a (2,2) b(-3,-2) c (44 d((2-2 e(50f(-31) g (43 h(7-2) i(-6-1) j (-5 -4
k (-5,3) 13,4 m(7,2) n(5-3) o0(0,0 p (=23 q (0,-3) r (0, s ) t(-6,2) u (5-2) v (8 —4)
wi(3-5 x31 2aUbQcFdEeAfBgLhRiJjOKkIIDmMTnGoMPpPpNqKrPsCtsS
uWvHWYVx?Z

Pace 12 1 2 km north 2 withdrawal of $200 3 —5,—6 4 =3, +2 5 —5 6 loss of $5000 7 —9° 8 lossof 2 kg 9 +12

10 18 11 —9 12 —20 13 -2 14 -3,-1,2 15 -3,—4

Pace13 1 C2B3A4D5B6A7C8D9BI0OAILICI2B

Pace14 1 62663 -164-63546 6 +157 —24 8 =2 9 +5 10 —10 11 —11 12 —26 13 0 14 —12 15 —6
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